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1. He was in a brown study and did not seem to catch my point .

@ in his study room absorbed in reading

© absent-minded

2. Harassed by repeated acts of injustice , he decided to put his foot down.

® not to yield resign

3. They set the two friends by the ear and then enjoyed the fun.

@) made friends to provoke to quarrel

4. The man who has committed such a serious crime must 'get the mostly severe' punishment .

@) got the mostly severely get the most severe

© withdraw

© to bring in agreement

© have got the most severely

5. Before I could stop him , the boy 'was throwing' the box down the stairs .

®) were throwing threw

© did throw

e : Null
©

® in a state of shock

®

®© none of these

© none of these

© no improvement

© no improvement

6. No sooner had be entered the room 'when the lights went out' and everybody began to scream .

® when the lights went out than the lights went out © and the lights went out © then the lights went out

7. The orator 'had been left' the auditorium before the audience stood up.

® had been left was left

8. They 'feel very proudly' that their team had won the match .

@) feels very proudly felt very pride

9. Where in Australia did Captain Cook land ?

(®) Great Barrier Reef Great Australian Bight

10. In which country did the Man Mau uprising (1952-60) occur ?

® Uganda Kenya

11. In the CAMELS bank-rating system, the letter ‘A" stands for :

@) Average quality Asset quality

© had left

© felt very proud

© Botany Bay

© Nigeria

© Adequate

17 Wha winn ¢iv rancertitive Wimhladan cinalec Hitlac in the 1a8Nc ?

©

© no improvement

©

© no improvement

©

© Moreton Bay

(® Zambia

©® Annual quantity
(D)
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(® Ivan Lendl Boris Becker © cChris Evert (® Martina Navratilova

13. The highest tunnel for high-speed train in the world has been recently opened in :
@) Japan China © Russia (® Brazil
14. The Declaration of Independence in the USA was written by : @
® George Washington Abraham Lincoln © Dwight D. Eisenhower ©® Thomas Jefferson
15. The only country in South East Asia that was never colonized by a European power is : @
® Thailand Nepal © Myanmar © Bhutan
16. The European Central Bank is based in :
@) Brussels Frankfurt © Maastricht © Paris
17. The series of sketches known as 'Famine Sketches' was drawn by : @
@ s. M. Sultan Kamrul Hassan © Qaiyum Chowdhury © Zainul Abedin
18. 'Bourse' is a European word for what financial mechanism ?
(®) Foreign exchange market Stock exchange © Commodity market © Deferred payments
19. The highest mountain in Bangladesh is : @
® Mowdok Taung Keokradong © Muripha Taung © Reng Tlang
20. Which is the financial centre and main city of Switzerland ? ©
(® Lausanne Berne © zurich ® Geneva

21. What is the name of the ancient Roman city that was destroyed by the eruption of the volcano Vesuvius
in the first century ?

(&) Naples Pompeii © Rome © Florence
22. The American state that is nearest to the former Soviet Union is : ©
®) Washington Hawaii © Alaska © New York
23. In terms of Muslim population, the rank of Bangladesh is : ©
® Second Third © Fourth © rifth
24. The Italian explorer who is said to have discovered America is : @
® Da Vinci Cortez © Caravaggio ® Columbus
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(® Asma Jahangir Amirah Haq © Irene Khan

26. Which canal is known as the 'Highway to India' ?

(A Suez Canal Grand Canal © Indus Canal

27. In which city was Martin Luther King assassinated in 1968 ?

® Oklahoma Memphis © New Orleans

28. The free trade area comprising Argentina, Brazil, Paraguay and Venezuela is called :

(A CAFTA MERCOSUR © COMECON

29. 1PV4 address is
@ 16 bit 32 bit © 64 bit
30. A hard disk is divided into tracks which are further subdivided into :

® Clusters Sectors © Vectors

31. Which one of the following represent the binary equivalent of the decimal number 23 ?

® 01011 10111 © 10011

32. The last address of IP address represents

Y
(@ Niloufer Nina Ahmad

®

(®) Ravi Canal

® Phoenix

® SACU

(® None

© None

(® None

©

(®) Unicast address Network address © Broadcast address (©® None

33. The machine readable form of a program is called as ?

® Source code Object code © Executable File

34. CSS is an acronym for

(® None

®

) Cascading Style Sheet Costume Style Sheet © Cascading System Style ® None

35. What is the use of Forms in HTML ?

©

@ To display contents email To display animation effect © To collect user's input © None

36. A computer port is used to

©

® Communicate with hard disks Download files (© Communicate with other computer peripherals ©® Norne

37. SQL stands for

®

® Structured Query Language Standard Query Language © standard Query Linguistics © Norne

38. Which of the following is not in OSI model ?
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®) Physical layer Internet layer © Transport layer ® Norne

39. The greatest number that exactly divides 105, 1001 and 2436 is :
® 3 7 © 11 ® 21
40. If the number 91876 * 2 is completely divisible by 8, then the smallest whole number in place of * will ©
be :
® 1 2 © 3 ® 4
41. If the sum of two numbers is 33 and their difference is 15, the smaller number is : @
® 9 12 © 15 © 18
42, The difference of two numbers is 11 and one-fifth of their sum is 9. Find the numbers. ®
@) 28 and 17 28 and 18 © 28 and 19 (@ None of these
43. Two numbers are in the ratio of 15:11. If their H.C.F is 13, find the numbers. @
® 195 and 143 190 and 143 © 195 and 145 © None of these
44. How many digits will be there to the right of the decimal point in the product of 95.75 and 0.2554 ?
® s 6 © 7 © None of these
45. The value of 1001 + 11 of 13 is : ®
® 7 91 © 143 © 169

46. The average of the two-digit numbers, which remain the same when the digits interchange their positions , ©

is :
® 133 ® 44 © 55 ® 66

47. Tanya's grandfather was 8 times older to her 16 years ago . He would bi 3 times of her age 8 years from @
now . Eight years ago, what was the ratio of Tanya's age to that of her grandfather ?

® 1:2 1:5 © 3:8 (@) Norne of these

48. The total age of A and B is 12 years more than the total age of B and C. C is how many years younger @
than A ?

® 12 24 © 26 ©® None of these

49. The simple interest on a sum of money will be TK. 600 after 10 years. If the principal is trebled after 5 ©
years , what will be the total interest at the end of the tenth year ?

® TK. 600 TK. 900 © TK. 1200 ® TK. 1500

LA . - . £ . . s owoe . : o)
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50. 1t the compound interest on a sum tor 2 years at 12.5% per annum is TK. 510 the simple interest on the ()

same at the same rate for the same period of time is :

® TK. 400 TK. 450 © TK. 460 ® TK. 480
51. 0.01 is what percent of 0.1 ? ©
® 1/100 1/10 © 10 © 100
52. Sixty-five percent of a number is 21 less than four-fifth of that number. What is the number ? @
® 140 142 © 144 © 145
53. An article when sold at a gain of 5% yields TK. 15 more than when sold at a loss of 5% . Its cost price ®
would be :
® TK. 150 TK. 200 © TK. 250 ® TK. 300
54. An express train travelled at an average speed of 100 km/hr, slopping for 3 minutes after every 75 km. @

How long did it take to reach its destination 600 km from the starting point ?

® 6 hrs 21 min (®) 6 hrs 24 min © 6 hrs 27 min ® 6 hrs 30 min

55. If 18 pumps can raise 2170 tonnes of water in 10 days , working 7 hours a day ; in how many days will
16 pumps raise 1736 tonnes of water , working 9 hours a day ?

® ¢ 7 © s ® 9

56. To fill a tank , 25 buckets of water is required. How many buckets of water will be required to fill the ©
same tank if the capacity of the bucket is educed to two-fifth of its present ?

® 10 35 © 625 (@ Norne of these

57. A man can do a piece of work in 5 days. But with the help of his son, he can do it in 3 days . In what ©

time can the son do it alone ?
® 6.5 days 7 days © 7.5 days © 8 days

58. Tow workers A and B are engaged to do a work . A working alone takes 8 hours more to complete the ®
job than if both worked together . If B worked along, he would need 4.5 hours more to complete the job
than they both working together . What time would they take to do the work together ?

A 4 hours 5 hours © 6 hours ®© 7 hours

59. Two pipes A and B can fill a tank in 20 and 30 minutes respectively . If both the pipes are used @
tagethdrow long will it take to fill the tank ?

® 12 min (® 15 min © 25 min © 50 min

60. A sum of TK. 53 is divided among A, B, C is such a way that A gets TK. 7 more than what B gets and B

oets TK. & more than what € cets. The ratio of their shares is :
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® 16:9:18

25:18:10

T = e I P Lo I

© 18:25:10

©® 15:8:30

61. Three partners A, B, C start a business . Twice A's capital is equal to thrice B's capital and B's capital is
four times C's capital . Qut of a total profit of TK. 16,500 at the end of the year , B's share is :

® TK. 4000
62. DELETERIOUS
@ impulsive

63. USURP
@ rise rapidly

64. DISCORDANT
® harsh

65. INSOUCIANCE
@) indifferent

66. GRANDIOSE
®) pretentious

67. INDOLENT
®) casual

68. HALCYON
@ luminous

69. VENERATE
®) defame

70. OBDURATE
@) careless

71. ENIGMATIC

® pithy

TK. 6000

salubrious

use fully

different

composure

brilliant

lethargic

gentle

abuse

contrary

puzzling

© TK. 7500

© pathetic

© produce quickly

© harmonious

© interest

© egoistic

© boring

© motionless

© respect

© callous

© complicated

72. The Bill was passed by the Parliament in the teeth of opposition

@) in the face of

72 T laatvra A lhavia A misls san

by force of

1rm11 11 Flaie wnatbar

© cooperation

® TK. 6600

® inclusive

®

© own rightfully

©

© separate

©

® slumber

®

©® modest

(®© disinterested

®

© peaceful

©

® accuse

®

© stubborn

®© illusive

®

©@ assistance

(A)
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. The value \/10 + \/25 + \/108 + 4/ 154 + /22545 :of

® 4 6 © s ® 10
95. The largest number from among
® v2 {3 © V4 © All are equal
96, If a® = b,yY = candc® = a,thenthevalueo fryzis :
® 1 © ﬁ © abe
97. The average of the first nine -prime numbers is: ©
® 9 11 © 115 ® 113
98. In a race of 200 m, A can beat B by 31 m and C by 18 m. In a race of 350 m, C will beat B by:
® 22.75m 25 m © 195 m ® 73
99. If x =1+v/2andy = 1 — /2, findthevalueof (2% + 3%\ ®
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® 6 8 © 10 ® 12
100. The reflex angle between the hands of a clock at 10.25 is : ©
® 180° 192.5° © 195° ® 197.5°
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